=
<

o(d @) (rad)
a(d cot(d))

1072 :E T E: |

AL AL sl TR G £ Ll
o5 TG I CeB O bl ]
LA i Ll

-1 0 1 2 3 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

iy

—=

o
C

|
w

l

N

il ¢
) Raaninsanate

— - —_Global_CMSSW_CKIPUSU__RECUO
DQM_V0001_R000000001__Global__CMSSW_mkFitPU50LowPtQuad__RECO
DQM_V0001_R000000001__Global__CMSSW_LowptQnoclean_ RECO
DOM_V0001 _R000000001 Global _CMSSW looseSC__RECO

1=

= [ ] E RPN 1 T E F
2 : : : : e L
~ TRIITH S R ) > I
> : 5;.[ I E s I
s : i : 5 M 5 |
° 10 1 R 1 fl 0
C2 0 | 107
1072k |: \:':: ‘,i
° ::-.“..I....i....I.... ML AN ° _....|....|...]i.T. L)
T Lsf 11T (R R AT T 2 1 ] E1pe-e--
o E ; s ; T o E ] 5 ] ] ]
1 BRI | O A (| T A 0 E o ; p A 1
E ] ' | | 1 e - AR HE - 4T (1R S
0.5F 1B - l e } E 1 : | % M
o - A
3 0 0

1 2 3 -1 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

|
w

|
N

-2 -1

=

owp./p,)

0 12 3
TP n (PCA to beamline)

|
w



	Contents
	Page 1


